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Given the equations
3x-4y+S5z=-1
~Ix+2y+tz=1
O6x+8y-z=35

(a).(15%)Use Gaussian reduction method to {ind the solution.
(b).(15%)Use Cramer’s rule to find the solution.
(¢).(15%)Use x=A""b form to find the solution.
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(10%) Using the method of least squares, fit a straight
g q
line to the given points (x,y).
(2,0), (3,4), (4,10), (5,16).

(15%) Find the eigenvalues and eigenvectors of the matrix
-3

= DN
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(15%) In rolling two fair dice, what is the probability
of getting equal numbers or numbers with an even
product?

(15%) Scores of a class of engineering math. course are
98, 76, 65, 54,22, 30, 80, 60, 62,
Find the mean (p)and standard deviation (¢)of the

scores. How many students get scores better than

w+o?






